PR

< RpEB MR BiEE L AiEEk

R : SS400

5 EiE [ZEd RELE =
e xn wE [ Kk [EEA[RTL] a6 | OB
WJG01 [t
WJG02 FTHEEL| FE =
WJG03| Hh/NE R p N d ),

WG| Bt s SS400|SUS304 22 -10°C~85°C
WJG12 Tk ik REER

WJG13 fR&E

[OESI=

o BEBMELREMEGMEENTNW, BEEERADENNIEE, BETMEMNNEPRR;

o TR ILWaNIE, MBRBEEETREREN;
o AIRASHAXHTRERE.

Ttk it e
WJG01/02/03 SFiAH \ v WJG11/12/13 dihH M v
/ N / ®
[a) E— [m} —
—— I AN o A== ] AN .
\_/_ \_/_
[} [¢]
St B E St B
A-E A
MehRE: SN
BS AR | fEESt SREA | MIRA | BAEXN L
. o JTER Al B | c | D | E| F | H |V | RK&EE | RkER | =8 R
RIS Mg | s | (mm) E(Nm) | Ec(Nm/hr) | Me(kg) (m/s)
0806 M8x1.0 6 50 38 33 6 6.6 | 11 2 8800 5.6 2.0
1005 5 38.7| 27.7| 22.9 6 3 10800 4.2 2.4
1008 M10x1.0 8 59 43 38 3 8 A 4 4 15200 4
1210 M12x1.0 10 71 50 46 11 10.3 | 14 6 17640 12 2.6
BiE 1412 12 99 76 66 12 15 30000 32
WJGO01 1416 | M14x1.5 16 106 79 73 4 1 19 6 20 36000 43 30
WJG11 1425 25 146 110 101 12.5 20 36000 43
2020 20 146 110 101 35 42000 36 39
2030 M20x1.5 30 161 115 106 5 16 18 26 8 45 48000 27 )
2050 50 224.5(158.5| 149.5 60 54000 125 3.5
2525 25 155 111 101 80 60000 69 3.2
=51 2550 M25x1.5 50 239 170 160 8 19 22 32 10 140 90000 142 3.6
WJG11 2580 80 336 |[237 227.5 198 120000 198 4.0
0806 M8x1.0 6 50 38 33 6 6.6 | 11 2 8800 10 1.0
1005 5 38.7| 27.7| 22.9 6 3 10800 8 1.2
1008 pLogles 8 59 43 38 2 8 .z & 4 15200 10
1210 M12x1.0 10 71 50 46 11 10.3 | 14 6 17640 19
i 1412 12 99 76 66 12 15 30000 50 1.5
WJG02 1416 M14x1.5 16 106 79 73 4 1 19 6 20 36000 64
WJG12 1425 25 146 110 101 12.5 20 36000 64
2020 20 146 110 101 35 42000 82 2.0
2030 M20x1.5 30 161 115 106 5} 16 18 26 8 45 48000 70 :
2050 50 224.5(158.5|149.5 60 66000 253 2.6
2525 25 |155 111 101 80 54000 380 2.0
hig 2550 M25x1.5 50 239 170 160 8 19 22 32 10 140 90000 438 2.5
WJG12 2580 80 336 237 227.5 198 120000 396 3.0
0806 M8x1.0 6 50 38 33 6 6.6 | 11 2 8800 22 0.5
1005 5 38.7| 27.7| 22.9 6 3 10800 B8
1008 M10x1.0 8 59 43 38 3 8 55N/ \ 4 15200 40
1210 M12x1.0 10 71 50 46 11 10.3 | 14 6 17640 75 0.8
| 1412 12 |99 [ 76 | 66 b 15 30000 200
WJGO03 1416 M14x1.5 16 106 79 73 4 11 19 6 20 36000 253
WJG13 | 1425 25 |146 [110 | 101 12.5 20 36000 253
2020 20 146 110 101 [85) 42000 575 10
2030 M20x1.5 30 161 115 106 5 16 18 26 8 45 48000 777 .
2050 50 224.5[158.5| 149.5 60 66000 496 1.5
2525 25 155 111 101 80 54000 1733
{KiE 2550 M25x1.5 50 239 170 160 8 19 22 32 10 140 90000 2286 2
WJG13 2580 80 336 237 227.5 198 120000 1584 1.5

OF=RFRE, FRRY. SIMEEE, FHEFZEHE, FRRHETEERBK=R, M
@ HEM

&8 -

BRERTE

Lt

DFRIBL
M

favE] TR
wGo 9800

WJG11

1005
1008

M8x1.0

M10%1.0

WJG

01— 0806

i

FHUNGT)

SNIERANS

30~

9
[100% B TRM

',



	页 2

